ANLBR-ER

AtLB:HMeF1A296

CHEREEEE) H6: M

I = & 2 R UIE &L Z % 5 % BALSE | RESRME mAEE
ﬁiﬁ?&’%%ﬁmzykﬁﬁé{ﬁI% 7,660,000 7,500,000 6,850,000 G P
55 B 5652 — _ _
I8 /T A A K EEIE TS AT
ﬁgigﬁjﬁ?ﬁé%iﬁl$ 20,130,000 20,000,000 18,130,000 EAKETIEE
NEREFES6-25 _ _ _ AL
SHCEEREEFEERETAIE IR :
E5-1E - —LRESHRS
1%’§Fﬁﬁﬁipad,|i§)\ 4,122,030 3,399,800 7—IJLFE @Z/Z:I.L\




RS (55 8 ZRFEMR)

A FL B Pk
. ANt F ¥ B & B 4 AN FL
2. T F % &= B2
3 T ® 4 AN 5 AR B RS AR Hi X K BR B (i T
4. A L &# A H S0 64 1H29H
5 ST £ =
TJE A B R ok TEH Rl

6. & K il FR O A% 6, 850, 000 4
7. Y O M K 7,660, 000 [
8. % AL FH K N & A () /s T 7,500, 000 P4,
9. fi =z
JIE | 2 = 4 H10E H2lE] $3[E] (A
1 |CE)/ M7 7,500,000 P AL
2 (BN H R 7,690,000

()R e% TR

TR (BR) R

()5 A% R

() IRER 2 & — TEIR

Vo fE B T B () FEIR

(BR) AL = 2% TER

(B)iEm THIE TER

. 1 O%ITHRY T 2B A INE L 7o 0N EME Lo AU Tod 5,




RS (55 8 ZRFEMR)

i VR -

1. D N R S B 4 B 4 A #L
2. Tr = % = BHAKES-145
3. T ® 4 P78 Mt X K A8 B B T L
4. A L &# A H S0 64 1H29H
Y S /N FEH F%
5 ST £ =
TJE A B R ok 47
6. & &K & BBl & 18, 130, 000 M
7. Y O M K 20, 130, 000 P4k,
8. % AL FH K N & A EHAKIE K5 20, 000, 000 4,
9. fi =z
/\ H
A FL & %A * HA7 ;Y
JIE | 2 = 4 H10E H2lE] $3[E] A
1 | EAKE LEE 20,000,000 P AL
2 |HIHE L 20,140,000
3 | (R FAFR 20,200,000
YN 21,000,000
IOV ATATTA R !

5 UEZAeREIC. 1 0 %N T D442 INE L= ERE Lo AL Th 5,




RS (55 8 ZRFEMR)

Al

AL

|3

. AN # H % B 4 B o4 AN KL
2. /TR = H6-T7
3. ) i 4 REFHA I P adiEA
4. A L &# A H S0 64 1H29H
[ N BpAS 1 W Bk
5. ST £ Ea
TE A B o S i
6. & K )[Rl K —
7. Y O M K 4,122,030 4
8. % AL FH K N & A T—)L RE VR AT AN (BF) 3, 399, 800 I,
9. fi =z
/\ H
A AL 0 #H < BT [
JIE | 2 = 4 H10E H2lE] $3[E] A
1 |7 REDARAT AL 3,399,800 AL
2 |BRE @l EA 73T 07 3,420,000
3 |(BRE + 3,478,300
BRIEZAE R NT AR H—

BR) iR 7 —

PRE PR (B = A 6

VU ] i ekt (R et e S 1

DU I 1 i B o 2 — (1K)

(B)TL <

5 UEZAeREIC. 1 0 %N T D442 INE L= ERE Lo AL Th 5,




